JL_

Addition (Horizontal)

Name:

Solve each problem.

1) 50+37=

2 50+9=

3) 10+5=

4) 17+6=

5 682+ 298 =

6) 24+ 4=

7) 15+5=

8 B5l+4=

9 2+1=

10) 689 + 289 =

11) 8+1=

12) 24+1=

13) 3B+1=

14) 112+6=

15) 12+8=

10.

11

12.

13.

14.

15.

Answers
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Name:

Answer Key

Addition (Horizontal)

Solve each problem.

1) 50+37= 87

2) 50+9= 59

3 10+5= 15

4 17+6= 23

5 682+298= 980

6) 24+ 4= 28

) 15+5= 20

8 51+4= 55

9 2+1= 3
10) 689 + 289 = 978
1) 8+1= 9
12) 2+1= 3
13) 33+1= 34
14) 112+6= 118
15 12+8= 20

Answers

1 87
2, 929
3, 15
4, 23
5. 980
6 28
7 20
8 55
9 3
10. 978
11, 9
12. 3
13. 34
14. 118
15, 20
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Addition (Horizontal)

Name:

Solve each problem.

Answers

{

20
23

87 28
978 59

980
15

s .

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

50+ 37 =

50+9=

10+5=

17+6=

682 + 298 =

24+ 4 =

15+5=

51+4=

2+1=

689 + 289 =

10.

M odified
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